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101|R#A7 L 520 158 362| Kg |EE 1,080 216| 2,484 270
102|357 L 1,876 1,876 Kg BB 1,593 540
111|&EEF £ 766 766| Kg =40 1,944 216
113|RAV S 316 316| Kg fE 2,700 648
114|B5EFE 318 23 295 Kg |ER 1,080 BRE - &E 2,970 1,080
117[14 % 363 73 290| Kg |EE 2,376 54|EfE 3,996 648
121{hblE € 83 39 44| Kg |EE 540 432| 864 540
134[#= 518 156 362| Keg |@BE-EE 2,484 1,300 £ 2,700 1,620
140(5 I 25 25| Kg we 43,200 11,880
147|E2 O 56 56| Kg |EE 10,800 BEAS - i 18,360 6,000
158|&TEN A IEH 254 254  Kg ERE 2,484 2,052
201{Lvb L 886 886| Kg Ri% - T 432 90
203|/hd L 140 15 125| Kg |EE 198 =5 432 46
205|3L8 L 619 619| Kg fE 486 324
206| = 1F 795 795| Kg = 562 216
208|m>% 469 469| Kg T 1,944 648
2094 B & LA 205 205| Kg B 1,080 799
210{1F AL 381 20 361 Kg |Ei 4,050 2,592 | E i 4,050 594
212|&5E.3 Y 185 185| Kg BiE 2,970 1,728
251|< %<3 280 280 Kg |Ei& 2,279 1,976
254|EhRECH 636 26 610 Kg |=4 767 b 2,052 1,058
303|1A 220 53 2 51| Kg |@&H 470 = 900 864
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306|Le kY 17 15| Kg |EE 324 i 1,080

315|7:b5 6 27 27 Kg = I 4,104

3191 h o 399 394 Kg |EE 972 FN - KB 1,512 675
3321 WA =EF 234 2341 Kg 2Pl 2,052 1,566
3BlHHY 17 12| Kg [|®E 2,808 SR 2,700 2,484
3541 <Y 64 64| Kg H[E 1,296 1,080
3/5|HEY 170 170 Kg =% HE 2,808 600
356|L L& 45 451 Kg SHR 1,512 324
3577~ E 17 171 Kg FEE 10,800 945
358| KE 10 10| Kg A0 4,536

362(m & 73 73| Kg JtimE 7,776 864
401|H W 145 1451 Kg iz B2 2,052 1,620
4025 E 26 26 Kg FE 15,120 5,346
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507|@— L Ly 10 10| Kg =] 1,080
523| A EARAT 2 O 224 224 Kg =] 3,942 1,300
54| ARE & 2V 20 20| Kg hE 1,620
Bh4| X IE BWA AR 10 10| Kg b 1,050
558| 20 20| Kg b 972
560|487 2 241 241 Kg R - A 3,996 1,850
576|4R & 1F 185 185| Kg B - A 2,160 1,250
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70110 BA 11,570 8,150 3,420 Kg |EE 2,909 1,294 | & 2,592 1,350
704|LWb LET 7 T Kg =) 2,376
710(2 2 AT 14 141 Kg Ko 799
713|IL L» & HF 14 14 Kg JbiF 1,152
BlBEFALANIN 14 14 Kg SR 2,592
755(Fd L 92 921 Kg E=AES 1,274 1,044
56| £ 9 19 19 Kg RIE 1,500 1,188
7611 b BHAEL 10 10 Kg EE 2,700
801|BHL =T 170 1701 Kg ¥ - A 2,050 1,566
802|111 250 250 Kg 2Dzl 1,836 1,404
805 = 1E 1,070 1,070 Kg bF 1,274 691
810|FAKXF 248 248 Kg biF 2,808 2,160
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